Hormone Gustin plays a role in
2 H.::ﬂ...mn of salivary amylase
. facrelion of bngual lipase
*  pevelopment of taste buds
:'_ $ecretion of phosphatase

b 24 times s day
€. Only when ity fequired
d.  More than 10 Umes & day

§  Among the inorganic constituents, saliva is saturated with
& N

€. Salvary a-amylase 8L brigfly g
3. Both starch and glycogen
b. Inthe presence of iy

& ALPH([B 6-6.8)
d.  Allof the above are true

b K+
. Cane
d M,ll-i
~ 1. 75%of the gastric secrelion is secreted by
& Cardac end
b. Pyloric end
€ Surface epithelium
d.  None of the above

8. Disaccharldases and oligosacchrids
2. Pancreatic juice
b.  Gastric juice
€ Mucosal lining of upper dejunum
d.  Mucosal lining of ileumn

$83 2r¢ presant |

9. PHofl the gastric Julce ranges from

10. Five majar pancreatic prateases are activated by
a 1530 8. Chymotrypsin
b 010 b. Elastase
L 57 €. Trypsin
d. It always above 7 d.  Carboxypeptidase A and B
11. Which one i3 the function of B35 julce HCL

3  Nconverts Pepsinogen 1o pepsin
b It converts fernc into ferrous from
€ Istimulates the releage of secretin

12. $teatorrhea is caused by lack of
2. Gastric juice
b, Bile

€ Pancreatic enzyme
4. Allof the above d. Allof the above
13. Gastric lipase enzyme s inactivated by 13. The dietary lipids consists of S0% of

b.  Pepsin b. Phaspholipids

¢ Trypsin €. Tracylglycerol

d. Lactic acy d.  Cholesterylesters

15 Intninsic factor is 16, Emulsification of dietary lipids occur In

3. Apolypeptide 2. Stomach

B I'san enryme b. Duodenum

L I'sa glycoprotein . Jejunum

4. 153 phospholipig d.  lleum

17, in the formation of blle acids, hydrocarbon chain of 18. In blle sals

chotesion | hormist s, ' : u:: Elycing or tayring Is attached with chalesterg] through

: :m::m b Covalent bong
. 11:.-: i €. Vander waals forces

€ dcarbong d.  None of the above

4. 6earbom
19, which laennati o ——
:mm'umﬂj- ':chu“m one is the triol 20, .Du;nFn:;lc test for acute pancreatity s
B Chenodeory cholic cig ' Pholipase
; €. halic acid

d. Flavissa-
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£ 15 Minutes

Azra Naheed Medical College, Lahore.

Test on Carbohydrates Metabalism (2" YEAR MBBS)

Ep?um ol Diabetes Meilitus are:
a)  Gastrointestinal disorders
b} Edemain the limbs

\

finally broken down to produce:

i 5 I3
11; Glycogenolysis is the process in which glycogen in muscle

2) Glucose
! b) Glucose-Po4
Polydipsia,polphagla and polyuria S Imienlatns
Y ey @ Lactic acid
: : enesls in
2. HMP shunl is the process in which ; 12: Main site for Giucon 20g
a} Ribose 5-Pod is lormed a) Brain
b} Xylulose 5-Pod in lormed @ Liver
. All of the above are true . d) Lungs -
3 f“"“ ofclrc acid cycle are presentin; —————— 13: Which of the following energy related activites dogs not occur in
3} Golgibodies Mitachondria:
b) Lysosomes _ -
¢ Nudeaolus (@) Oxidative Phosphorylation
@b Mitochondria

mhe substrate for Aldolase g i5 :

Glucose 6-poy

b Electron transpon
€)) Glycolysis
—1 9 Gitricacld eycle

b) Fructose G-Pog
¢ Fructose L1-6-bisphosphate
d] Glucose 1-Po4

Sn erythrocytes 2,

14: Phosphofructokinas &-2 [PFK-2) converts :

Fructose 6-Pod ta fructose 1-6 bisphosphate
Bl Fructose 6-Pog to fructose 2,6 bisphosphata
¢} Glucose 6-Foa 1o fructose 6-Pog

intermediate of glycoltic pathwa
3] Glyceralde hydes 3-poy
1.3 blsphas phoglycerate
¢} 3-Pheas phoglycerate
d) Dihrdoxya Cetone-Pod
6: The HMP-shunt inel

v

Blycerata |n derived from which

d] Mone of the above Is trus

15: At low blood Blucose
UP glucose this in due to Lhe:
3] Lowkmal hexokinase

b) Lowkmet Blucakinase
t}  Blood brain barrier
(@D Speci

udes which of the following enrymes]
1] Fumerase

bl Pyruvate deh

vdrogenase tomplex
£) Hexckinase

3) Glycolysis

b) Uronic acid Pathway
Citric acld cycle
Glucose 6-PO4 deh drogenase (G6-PD) d) _HMP-shynt
7: Which of the following is not the intermediats of titric zeid 17: In musclps Elucose 6-pO4 s not converted 1o glucose dup 1 the
cycle: absence of:
a) Oxaloacetate 3) Hexokingse
bl Malate ) Glucokinase
Phosphacengl Pyruvate Phospharylase
d) d-ketn gly Larate d) Glucose g phosphatase
8: Regarding ransketolase: 18: Which of the follg Wing statemen
3 Rtransfers gne carben from aldos UR3r to ketasugar
b) it transfer twa ca

rbons from keto

SUgarto aldosugar
carbons from ke

flicity of Elucokinase
16: All of the l'nlluwing Pathways ocour in Cytosol except

tabout insulin i inc

a) try of glucose intg the cells

Itincrease the en
bl It stimulates Blyc

Qrrect:

Ogenesis
losugar 1 aldosugar It inhibits glycogenolysis
It transfer three Carbons from aldosygar to ketosugar d) It stimulates luconeogenesis
3t Chemieal ENergy required for Synthetic processes is provided 19; In citric acid Cycle C02 s releasag when
by @ d-ketoglutarate js ¢o nverted to suscinyl-s-coa
__ 3 Phosphorylation of Amp b) Succingl-s-can thinges to succinate
b} Phospho rylation of ADp ¢} Succinate changes to fumarae
t) Phosphorylation of ATP d) Fumaraie cha nges to Malate
Hydrolysis of ATp )
10: Which is the true statement aboyy glycolysis: 20: Stress traymg, SeVEr exercise and secretion of epinephrine will:
In glycolysis, two steps Benerate ATP ) Increase the secretion of insulin
In glycalysis three steps gen Erate ATP b) Decrease the secretion of insulin
€ Inglycolysis foyy steps generate ATP & willhay
No ‘

e no effect an in

dj ne of the above |5 true

‘s

d

sulin secretion
All of the above are true

I
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,}' AzRA NAHEED MEDICAL COLLEGE

Naoe: Ve

#7574 DEPARTMENT OF BIOCHEMISTRY
P RotinNo.: (R
{ . . Marks obtasined:
O EEI'": D UP EXAMINATION - 20 18
/ SECOND YEAR MuBs PART 11-MCQs
Total marks: 30
Time Allowed: 15 minutes
Select one best answer
1 Coenryms Q 2  Accidental Ingestion of 2.4 Dinitrophenol will result in
(a) Omdizes glucosa {8 More ATP synthesis
b) Reducss glucocas Thermoganesis
Transfers electrons % Increazed sy s pturacd
() Transter phosphates {d) Reduced reductiolrol NADH
3  Swalorrhea Is caused by 4  Secondary blle acids are synthgetied in
D Malabsorpiion of fats (a) Stomach
&) Malabsorplion of proteins (b) Liver
(c) Lactose intoieranca c) Pancreas
{d) Malabsorption of carbohydrates b Intesting )
§  For glycogenesis, glucose should be firstconverted |6  For the continulty of cltric acid cycla, which of the
lo - following compounds should be regonerated?
G} UDP-gluccss (2) Malale
(b)) Sarbital bB) O=xaloacetata
(z} Lacticacd Fumarale
(d) Pyruvic acid (dy Succinale
7  During starvalon, tha first reserva nulrient 1o ba B All of the following statoments about albinism are
depleted is correcl except
Triacylgtycerol ' (a) Tyrosinase is caficient In nocytes
Glycogen (b} Skinis hypo pigmen
c) Proleins ¢) Eyes are hypa pi
(d) Cholesterol It results in retardation
8  Diabetes inslpidus is caused by the deficient 10 Irritability, tremors, Intolerance to heat and high blood
secreton of glucoss lavel are Indications of
QD Insusn . (a) Hypothyroidism
b) an (t) Cushing's s
(c) Oxyilocin c} Addison's disease
(d) Vasopressin Hyperthymidism
11 Secretion of epinephrine will 12 Allopurinol, which Is used for the treatment of gout, is
a compatitive inhilbior of '
(a) Stmulate ghycolysis | (a) Glycoge
. a thi
(&) Inhibit ﬂlhﬂﬂw: (b Cgtﬂu: i
(e} E{mhh glwnqum_ Xanthine cddase
tmudata glycogenclysis / {d) Alkaline phosphatase
13 Okazald Tﬂaﬂ'lll'll‘l are related Lo 14 In the biosynthesia o Idines
? ONA synthesis Tyrosine and -
(b) Protein synthesis G’ . S&ry are added up 1o form pyrimidine
(&)  Glycine & me are added up to fo
() MRNA synthesis Pytimicine iy
(d) tRNA synthesis E:,: :’lﬁ;'n?': §1d 18 incolporated as a whole
i proline a® added up form pyrimiding
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AZRA NAHEED MEDICAL COLLEGE

DEPARTMENT OF BIOCHEMISTRY .
L]
CLASS TEST ON NUCLEOTIDES S
MBBS PART | - MCQs .
Tﬂut marks: 20 1“‘
Time Allowed: 20 minutes _
Instructions
1. All MCQs are to be attempted on the paper and returned to the invigflator within given time.
2. Any cutting or overwriting will not be accepted and no marks will be given even if the answer Is corect.
3. Write your roll no. only on the perforated portion of the title page.
\_ 4. Do not write your name or discuss vour Identity in any wav
{1 . Paeudouridine arm of tRNA has base sequence 2 Nen coding region of DNA Is called
{a) GGU (a) E;:nm
3 R o o
E:;]' AGG (d) Neutron
3 Stopcodonls 4 Initiation codon Is
o 8 o e
(b} CCU (o) aGo
{c) UAA o AuG
(d) AAG
' ten
5 7 methyl guanosine Lriphosphate cap ls present on 6 vlm:l;:: n::l ;::m.
{a) Transfar RNA 1:l;;r . RNA
Eh}] E al ﬁnﬂ {g) Heterogenous nuchaar
c om RNA
{d) Small nuclear RNA (d) Transfer
iotional modifications, LANA loses from
7  Longer arm of transfer RMA [¥end) has tarminal B :!:l'p:::;lnmr p
e QaTamey {a) 13 bases
(a) GGU (b} 18 bases
(%) (¢} 15 bases
& oA (@) 16 bases
{dj CCG
10 Which of the following has maximum number of minor
nton
§ Poly Atall ls prese o
IRNA
{g) 5 end of IRNA :;i
b g‘ﬁ 5 tnmw RNA (e) mRNA
(a e ANA
{d) 3 end of messengar RNA (d) Small nuclear
? Anticodon arm ls present on 12 Which of the following bass palrs will have 3 hydrogen
bonda?
A=T
(a) Messanger RNA (a)
lh; Ribosomal RNA {b) A~ 11{
(e) Transfer RNA e G-
(d) Hoterogenous nucloar RNA (@) G-C
13 When ATP changes to ADP 14  Pyrimidine nuclectide is
(8) 14.3 K.Cal are reisased (a) ADP
{b) 7.3 K.Calure released (b) GMP
{c} Noenargy Is releasad (¢} IMP
(d) 5K Cal enargy ls gained (d) CMP
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Total marks: 39

be released frem
(4]  Clpalmityl etithin
(8]  Sphingosine

(1)  Phosphatisyl ingsital
()  Choleswers)

fi nct be accepled and no ik
wi nulhmﬂteqmnhmi[thmswii oy, e Howed 20in
e
of Chalesters! blosynthesis is S =
; Haximum amgunt of cholesters! i found I
(1) Chylomicrgns
() wou
] 1ot
(@ Ko
=7 = iy 4 Whichof the fallowing enzyme ks Inhibited by Aspirln
: El 5 porygenase
d ) 15 liparygenase
Y emo 0 128
) vt nesine 8. L
for entry o [atty 3clds Inta mitochondria carnitine I needed, |6 Adipose tissues are unable to syatheslze ghycerok3-POs due to
which takes In ibsence of
(3 Lang chain fatry acids i) Glyterol phosphatase
() Clycogen . (8]  Cheerol debydsogenase
(1) Shaitchain [atty acids [c)  Gheerol kinase
(&)  Both short and medium chain fatty acids (f) Chycerol oxidase
T_ Ceramide ls needed for the synthesis of glycosphingaliplds 8 Bile acids are formed from cholesterel in liver by losing:
and sphingophospholipids. It s synthesized from
(a)  Ghycerol and phasphate group (a) 4 carhons
(4}  Sphingasine and Ghyceral ) 5 carbons
(] Sphingasing and phosphatt grovy [ Yearbom
(d)  Sphingosire and [y acids (4) 2 rcarbons
§  Endproduct of B ocxidation of 21 carbon fatty acld will be 10 Which of the [oflowling earyme |s absent In lver
la)  Acewaceny-SCoA (1) Thiopharase
(b]  Aceryi-SCoA fb]  Gheogen symihase
()  Propionyl- SCoA (1] Phosphatse
(] Suctingl- 5(0A (]  Phospharyase
11  Bicsynthesis of sphingosine requires 12 Whichof the following compounds |s Lhe comamon Intermediate
In ketegenesis b cholesterc! blosynthesls
(a]  Paimiy-SC0 A« ghycine {a) Ateiane
{b]  Paimityl-5C0 A « serine (b  Mevalonic acid
() Paimityl-5C0 A= tyvosine () Letihin
(f) Palmityl-5Co A - threanine ()  Acetoatetyt SCok
13 Elcosanolds ere synthesized from arachidonicacid whichcan | 14 Conversion of cholecalciferol to L25 dikydeo- chelecalciferal

takes place In

{a}  Spleenand kings

(b]  Lever and brain

(t]  Kidney and small Intzstine
(d) Liver and kidreys
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Marks obtalned:
ON G.LT. & RIOENERGETICS - JAN. 1019
SECOND YEAR MBBS - MCQs

e s —

M
70 milnuies

~ne besl answer

———

;;,];..';m mﬂwmmlnu 'ﬁm-? PP 2 The lunclien of enryme snterchinsss ls 1o
g digestion .n:,.:?;m ey AL {a) Causa bicarbonate secretion by the pancress
:;; mmm- ol lipsd digealion llmlrmﬂmul;liﬂ (b} Swmulste secretion of gasinn by tha stomach
igtycerois in intestinal ep
icl ﬁ:ml ulrml digestion are resynihesized fc] Activete trypsinogen Into trypsin
intn rmecalles @ (restinal cally info
{a) mmmﬂwﬁqmummw (d) Activels pepsinogen pepsin
active Fanspon
7
3 The Gall bladder: 4 Which s the Iriﬂb:hl of gastric julce sacretion
o g .
{c) s stimulated o contract by tha hormona CCK (c) Histamine
{d}) BandC {d) Secrelin
§ 18 glycosidic bonds In cleaved by which of the § Proteolytic enzymes are produced by
following enryma?
{a) Mahase (0} Smﬂmh
i.g; mm E:; Small in
AR Pancre
E:u Lactase {d) Al of above
7  Endopeptidases Includae all of following, excopt 8 mtm:;ﬂﬂﬂﬂ_ l'l:;dlni Pepaln la correct?
(8) axyniic
::i mmmdm {b) Converted 1o pepain by Trypain
(g} Chymotrypain (c) W convens protesns ko prolecaes and peplones
(d) Pepsin (¢} Pepsin s an excpeptidase
%  Rogulation of saliva is by: 10 Regarding sallva which of the following ls Incorrect:
() Uncondiboned reflex (a) Conlaing amylass and lipase
it Conditional Reflex - E:; Enntﬂm salivary pﬁ:l;ﬂlurﬂc enzymes
(cl Sponiansous SECTe ontalna sacretory lysozymes
(d) Al of the above (d} Contains paroxidases
11  Gastric jules containe all of the lollowing except 12 Chylurials the
{a) HCI is) Excretian ol milky urine _
(b) Pepsin (b} ::!h-wmtn in ransportation phasa of lipid digestion
n lacies
(e) Intnnsic facior {c) An abnormal connection batween unnary Iract &nd
lymphatic drainage
(dy Vitammn B 12 (d) AM of above
L n"'"l““l. 'I:‘:;l of fatty acide Inside the Intestinal mucosa | 14  Calclum lons facllitate action of lipase by
(a)  Apo-Ba8 (8) Faciltaling the binding of tha enzyme lo the fats
(8) Pepsin (b) Inhibition of emulsification
el okingse ic)  Wicele formuton
i) Lpese (d) Trus sslution formation
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Bile salts secretpq

3 Excreted in “::f 1Mesting g
B, B5% efficienty reatisort

€ 50% are efficiently ‘m:td
d- Reabsorbed whenever it it requieg

4, Bike salts undergo anter
s 6-8timesaday BRI Crcuation
b. 24 times a day
of lingual lipase ¢. Only when it is required
¢ wwﬂtn!' taste buds 4. More than 10 times & day
g Secretian of phosphatase
6. Salivary a-amylase acts brielly on
saliva is saturated with L Bath starch and glycogen
b. inthe presence of "
c. AtPH(6.6-6.8)
d. Al of the above are true
gastric ecroted 5. Duaccharidases and oligosacchridases bra present in
. m nd RpONHES o 4, Pancreatic juice
;I Hlb::l'hd b, Gastric juice
c.- surface epithelium ¢ Mucesal lining of upper Jejunum
d. None of tha above d. Mucosal lining of lleum
9. PH of the gastrc fuice ranges fram 10, Five major pancreatic proteases are activated by
s 15-30 a. Chymotrypsin
b. 010 b. Elastase
c 57 . Trypsin
d. Itisalways above 7 4. Carbowypeptidase Aand B
11, Which one is the function of gastri¢ juice HCL 12. Steatorrhea s caused by lack of
a.  Itconverts Pepuncgen ta pepsin 4. Gastric |uice
b, It comverts lernc Inta ferrous from b, Blle
¢ It stimulates the reiease of secretin £ Pancreathc enzyma
d. Al of the above d. Al of the above
13, Gastric lipase enpyme is Inactivated by 14, The dietary lipids consists of 90% of
a HCL a. Cholesterol
b.  Pepsin b. Phospholiglds
¢ Trypsn £ Triacylglycerol
d  Lactic acd d. Cholesterylesten
15, Intrinsac factor B 16. Emulsification of dietary lipids occur in
4. A polypeplde s Stomach
b.  I'san enryme b. Duodenum
¢ It'sagiycopratein ¢ Jejunum
d isaphaspholipld d.  lleum
|
18, In bile salts glycine or taurine Is attached with cholesterol through '

T 17, Inthe formaton of bile acids, hydrocarbon chain of
chalestero! i shoriened by

8 Scarbons
b. 4carbons c.  Vander waals forces
t.  Jecarbons d. None of the above
d.  Gcarbons
0. Diagnostic test for acute pancreatitis ls

2. lonk bond
b, Cowvalént bond

19. Among the bile szids which one is Lhe triol
Cholec acid

'R
b. Chenodeowy cholic atid b Seru

¢, Giycochenodeoxycholic acid [ A Tr'p';r:.l“t'l..ITWI":I‘l

d. Taurocheno deaxycholic acd d. Elaytases

4. Phoipholipase
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SECOND YEAR MBBS - MCQs

—

%:

. r-""'"l;_g—;;trmlntl regarding lipid
e IO Srption s true?
»d so amulslfies lipids

e ; ,
 lipid digeslion are resynthesized
7 hcts N intestinal epitheiial cells,

1:%: of lipid digestion ara resynthesized
P ses in intestinal calls

2  The function of enzyme anterckinase ks 1o -\

{a) Cause bicarbonale secralion by the pancreas
{b) Stimulate sacretion of gasirin by tha stomach

{c) Activele rypsinogen inlo brypsin

i r.-f ;mu:u of lipid digestion are absorbed by (d} Activate pepsinogen into pepsin
o
‘{;W"’" 4  Which Is the Inhibitor of gastric julca secration?
. Synihesizes bile (a) Corticosleroids
':, Slores bile () Caffeine
) Is stimulatad lo contract by Lhe hormone CCK {c} Histamine
' (d) Secretin

,mhrtﬂlidlc bonds Is cleaved by which of the
|" foliowing enzyme?

(a) Mallase

(b) [Isomallase

fc) Amylase

() Lactase

£ Proteolytic enzrymes are produced by

{aj Stomach

(b) Small inlastine
{c) Pancreas

(d) Al ol above

7 Endopeplidases include all of following, #xcepl

(a) Trypsin

(b) Carboxypeplidase
{c) Chymotrypsin

(d) Pepsin

8 Which of the following regarding Pepsin ls correct?
(a) Secreled by oxynlic celis
(b} Converied to pepsin by Trypsin
{c) It converls proteins lo prolecses and peptones
{d) Pepsinis an excpeplidase

& Regulation of saliva Is by:
{2) Unconditioned raflax
(b) Condiional Refllex
(e} Spontaneous socralion
(d) Al of the above

10 Regarding sallva which of the following Is incorrect:

(a) Contains amylase and lipase

{b) Contains salivary proteclytic enzymes
{c) Contains secrelory IgA and lysozymes
{d} Contains peroxidasses

11 Gastric juice contains all of the following except

(a) HCI
(b} Pepsin

(c) Intnnsic faclor
{d) VitaminB 12

12  Chyluria Is the

(8) Excretion of milky urine

(b) Obstruction in transportation phase of lipid digestion
in lacleals

{c) Anabnormnal connection between urinary lract and
lymphatic drainage

{d) Al of above

13  Activation of fatty acids Inside the Infestinal mucosa
colls is by

(@) Apo-B4d

{b) Pepsin

(c} Thickinase

(d) Lipase

14 Calclum ions facllitate action of lipase by

(a) Facilitating the binding of the enzyme 1o the

(b) Inhibition of emulsification e
{c} Micalle lormation

(d) True solution formation
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Tnacyiglycerod preseni in
Methy! Malanyl SCoA 1o
F'GHI =] PG']
PGE; 1o PGF;

(B)
(e}
(d}

18 Leash Nyhan syndroma is 18 The major catabolite product
mammals is
@ Dus 1o e deficiency of hypoxanthine guan| 3) Urea
® phosphariboryl tansterase e 1#)
) Phosphoriboeyl synthetase (&) Guanina
{¢)  Carbamoyl phosphale synthetase ¢ Unic acid
d) Phosphorylase kinasa p-alanena
17 Intenlsa 18 The new DNA sirand which is copied away from
replication fork js called
(a) Coding strand on DNA ] Coding m{r-d
Non coding strand on DNA Template strand
(£} Coding reglon an rRNA {¢) Leading strand
(d)  Non coding region on LRNA {d) Lagging strand
1% The davelopmani of neuropath and retinopath [ oxidation of odd chaln fatty acids will
diabotes mallilus ia |I'l'lplil:lpl:d- :n vin - hE.:d Pracum e
Increased syrdhasls of Asids la) Acetyl SCoA
% Erfuud breakdown acds (B) Malonyl SCoA
COgONa s {2l Succinyl SCaA
(@) Conversion of gi scoke to sprbaot @ Propionyl SCoA
21 Which of the following amina sclds Is incorporated | 22 The mutation In which changed base, codes for the
into purine molecules and becomes the alem number same amino acids Is called
4, 5 and saven of purine?
(a) Histdine @) Nonsanse
{'-'li' GiMrllp \/ E Missenss \/
C Hydroxy Prodine Silant
‘\ Glycina (d) Frama shifl g
el
ich of the followlng statement is untrue about 24 Al of the lollowing about phenylketonuria are correct
ncreatic hermonos? sNcepl:
(3) Insulin stimulates lipogenesis {a) Enn.nry excrelion of ghanyl pyruvals and phanyl
ctale iy incrensed
{:il Imr:.m iltlmdl:; gry:n:nm g :::‘::n bl:h?'itmhd low dosa of alanina
nruuu‘ coganclysia iy iras converlad inlo Tyrosing
b Glucagon slimulaias gluconeogenasis {d) lleads to decreased Mynithesia of thyroid harmone,
calecholaming and malani
5 :umr:r::'nu is transforred from muscies to liverin tha | 28 Niemenn-Pick disease results from the daficlency of
a) Free ammonia (a) Ceramidase
Glutamina (b) Hexpseaminikiase
[c) Alzning i c] Sphingomyelinase
{d) Tyrosine Arylsulphatase A .-
2T Clay colored stools are dus to absonca of 28 wr:::h _?r the following pathways s amphibalic in
nature
@ Biosals " @ Citric acid cycle :
(b} Bile pigments (b} Glycalysis
{c] Vitamin D (e} Uronic acid pathway
(d) Vitamin A (d} HMP shunl
Lipapralein lipase hydmi'y;" 30 Heaspiralory acidosie occurs dug

8] Relantion of CO;
Hyparventlalion
(c) Halantion of HCOy"

{d}
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the most sultable IM Tima Allowed: 18 Min:

T gecretion of saliva Is by (122029
¥, Energy dependent active Process L Bie sy BeCIRted into ntesting are B
By umple diffusion b Extreted iy
: Qsmosis B 95 mﬂﬂm-mnd
d Aol the above € S0%are efficiently absorted
— @ Reabsorbed whenever f i require
Salivary Hormane Gustin gl
4 Secretion of sal o fole e 4. Bile salts under
. salnary amylase 89 enterohepatic cxculaton D
b Secretion of lingual lipgga : &8 tmes # day
t. Development gf taste budg L' E:,:‘":: " oy
d.  Secretion of Phasphatase d. F-'luu':tu: EL“I_;'I :‘:q
5. :""’“':::“ inorganic constituents, Wilva s saturated with 6. Salvary a-amylase acts briefly on =
b, Xe 3. Bothstarch and glycogen
:. i b Inthe presence of ¢
dr " € ALPH(6.66.8)
- B+ d.  Alol the sbove are true
7. T5% ol the gastrig y RETele,
G m“ﬁﬂ:‘ eCretian s secreted by 8. Disaccharidases and oligosacchridases are present in
b. Pyloric end 4. Pancreatic julce
€ Surface epithelium > ::im: ]nu f ™
& (3 ucotal lining of upper Jejunum
one of the above 0. Mucosal lining of lleum
9. PHof the gastric |uice ranges from 10. Five major pancreatic pioteases are allivated by
2. 15.10 i.  Chymotrypsin
b. 010 b. Elastase
& 57 & Trypsin
g Iisalways above 7

l_ 11. Which one is the lunction of Bastric juice HCL

d.  Carboxypeptidase Aand §

. Itconverts Pepsinogen to pepsin

b. It canverts ferric inta lerrous from
C  Itstimulstes the release of secretin
d.  Allgl the above

Steatorrhea Is caused by lack of
i, Galrie |uice
b Hie

.. Pancreatic eruymae

15. Intrinsic factor bs

d.  Allof the above
13. Gastric lipase anryme i Inactivated by 4. The dietary lipids conaists of S0% of
3. HQL 2. Cholesterol
b, Pepsin b, Phospholipids
E Trypsin & Tracylghzerol
d.  Lactic acid

d.  Choleserylastery

16. Emulsiication of dietary lipids occur in
3.  Apalypeptide 2. Stomach
b. I'sanenryme b.  Duodenum
€. IU'saglycoproteln . Jejunum
d. lsaphospholipld d  Neum
17. Inthe formation of bile acids, hydrocarbon chain of 18. Inbile salts glycine or taunine b attached with chalesterol through
cholesterol s shortened by 4. lonlc bond
a. Scarbons b.  Covalemt bond
b. 4 carbons €. Vander waals forces
€. 3carbons d. None of the above
d. 6carbons

19, Among the blle aclds which cne is the triol
a, Cholicacid

b. Chenodeoxy chalic acid
t.  Glycochenodeoxycholic acid
d. Taurocheno deoxycholic acid

20. Duagnostic test for acute pancreatitiy iy
a. Phospholipase
b.  Serum amylase
. Trypsin
d. Elastases
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Which af the followng 5 & purine bawe?

2. Adening
b Cytosine
c.  Thymine
d. Uracd

8 Glucoie - phosphate

b Ribosyl phosphate

€ % phoiphoribayl | Prrephaspahe
d. Deoxy ribosyl pyrophosphgrs *

= 3. The amino acicy which donale amine groups for the 4 The first punne nucleotide that iy Ty lormed In the
purine biosynthesis are: synithiete pathway h: de novo
4 Glygine, glutamineg, aspartate a AMP
b. Glycine, Phenylalaning, Glutamate b, GMP
€ Lywne, glulamine, aspartale e CwmP s
d. Glycine, Threoalne, aspartate d IMP
5, Which of the lollowing serves as the cofactor for Lhe de 6. What is an activator of the enryme "Glutamine:
nova synthesis of purlne metabolivm? Phoiphonbofylpyrophaiphate dmidolransferase” a commitied
step of de nowvo biasynthesn of purines?
a. Thiamine _
k. Bigtin a.  Adengtine Monophosphate
. Faolate b. Guaneune Mongphosphite
d.  Favin €.~ Inosine Monophosphate
d Phosphoribasyl Pyrophosphate
7.  Which of the foliowing contribule nitrogen atoms Lo & A patient presented with cognitive disorders, behavioral
bath purine and pyrimidine rings disturtiances and an urge to bite his lips. Which of the foliowing
disorders he must be suffering from
a. Aspartale
b. Carbamoy phosphate a  Hurler nndu!mt
¢ Carbon diowide b. Gouty arthritis
4 Glutamate & Lesch- Nyhan syndrome
d.  Dawn syndramé
9. The enryme xanthine oxidase is inhibied by 10. The end product of purine degradation In humans Is
a  Allopurinal a. Urea
b, Conicosteroids b Allantoin
. lbuprolen ¢ Xanthine
d. Colchicine d  Uric acid
11. The ensyme assocated with hyperuricemia is 12, The enryme delect with Lysch Nyhan syndrome Is
& Glucose 6 phospghate 4. PAPP synthetase
b. HGPATae HGFRTase
c PRFP synthetase €. Xanthine oxidase
d. ol the above d. 5 phosphoribosyl amidotransferase
13. The enryme xanthine ouldase catalyie the comeersion of 14. Which ol the follgwing is the primary cause of gout
2. Inosine to hypeaanthine a. Deficiency of Xanthine oxidase
b. Guanosine Lo guaning b,  Lactic acidasis
c. Xanthire to uric acld ¢ Llead toxicty
d. Inosne monophosphate to inosine d.  Chemotherapy
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Cholesteral Is the precursor of all the [allowings except

be released [rom

{a)  Dipalmiry! lecithin
(b)  Sphingosine

(]  Phosphotidy! inositol
(d) Cholesteral

16  Deficiency ul which ﬂl the Iﬂlln'ln; wli|
() Androstenedions () Phasphotdylinasic g5
(5 Estrone (2] Cephlains
(¢} Phenyibutazane () Phosphatidyl serine m—
Testosierone ()  Dipalmityl lecithin -
7" The mast signlficant source of stored energy Is 18 Regulatory enzyme of Cholesterol biosynthesis s
() Liver ghyrogen () HMG-S(oA reductase
(4 Muscle protein () HMG-SCoA synthase
(¢)  Liver proteins () HMG-S(oA lsomerase
(4)  Adipose tissue (4) HMG-SCoA decarboxylase
19 By decreased activity of ipoprotein lpase which change would | 20 The metabolic function of LOL Includes
¥ou expect? _—
" a)  Tosynthesize Apd- .
H} E:::;ﬁ ﬂ f,';’ l“ {h]l To transport cholesterol from liver to extrahepatic Ussues
()  Elevation of chylomicrons & VLDL [c) Tocatabolize “'f“"-'“:’d""
(d)  Elevation of chylomicrons only (d) Tosynthesize bile atics
2l The 14 carbon chaln [atty acld undergoes complete B- 22 Haximum amount of cholesterol Is found In
oxidation, How many B-oxldation cycles will be completed and
how many acetyl SCoA molecules will be liberated? .
() 7 cycles and B avetyl SCoA (a)  Chylomicrons
() Breycles and 7 acetyl SCoA () VDL
(€ 5 eycles and 9 acety! SCoA () 1oL
(4) 4 cycles and § acetyl SCoA (4) HOL
23} HDLIs synthesized in 24  Steatorrheals
() Lver (a)  Absence of glucokinase
(b)  Nidneys (b) Malabsorption of carbohydrates
(] Spleen (¢} Malabsorption of proteins
(d)  Liver and intesting (d) Malabsorption of fats
25  Adipose tissues are unable to synthesize glycerol-3-POsdueto | 26  For entry of fatty aclds into mitochondria carnitine Is needed,
absence of which takes In
{3)  Clyrerol phosphatase (a)  Long chain fatty acids
(t)  Chcerol dehydrogenase (b) Gheomen
() Clycerol kinase (c)  Short chain fatty acids
(¢)  Glycerol onidase (d)  Both short and medium chain fatty aids
&7 Ceramide Is needed for the synthesls of glycosphingalipids | 28 Which of the following compounds Is the common intermediate
and sphingophasphalipids. It Is synthesized rom In ketogenesis & cholesterol blosynthesis
(3)  Glyeerol and phosphate group -[a)  Acetone
(b]  Sphingosine and Giyeeral ()  Mevalonic acid
(t]  Sphingesine and phosphate group (¢} Lecithin
(4]  Sphingasine and [atty acids (d]  Acetoacetyl SCoA
2% Elrosanolds are synthesized from arachdonic acld whichcan | 30 Conversian of cholecalclferol ta 125 dihydro- tholecalciferol

Lakes place In

(2)  Spleenand lungs

(b)  Liver and brain

(] Xidney and small intestine
() Liver and kidneys
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CLASS TEST ON G.LT.- 2018

Marks obtained:

/ MBIS PART 1= MC()s
rl_g?..l i 10 Time Allowed; 20 minuics
Sclect one best answer
l|.-—l—'—___-_-_-_.__ . —_—
1 All of the followingd is true about Rennin excepl: 2  Which of the h?:uulwing slatemeni m incorrect
(a) It is invoivad in curding of milk (a) ?“';‘lil‘“‘ﬁ“ 18 noutrakized by pancreatic NaHCO,
(b) Also called o8 chymosin () peutral pH ymolrypsin and elaitass are active at
{c) Amino acid senne is present n the active canter of
(c) his not presentin "ﬂ"'ﬂ" trypsin only — o
(d) I eonverts caicium paracaseinata 1o casein (d) Procarboxypeptidase is activaled ky trypain
3  ‘Which of the following ls Incorrect regarding 4  Regarding absorption of proteina l_II I falne except:
absorplion of amino acids R _
fi] Tha mmm” u' L_mm Acids ooours h}l an achive {i] Infamts cannot absorb mad Pllﬂmm rlth aflar hﬂh
process o .
_ . o Uptake of proleins is by special process endocylosls
(®)  p.amino acids absorb by simple diffusion ®) g;ppimcylnlll in adults
(¢) D-Amino acids are mare rapidly absarbed than L- (c) m:}“?‘:”hr absorplion in adulls cannol cause
armino pCids eigies . i )
(¢) D and L amino acids absorplion is al deum and () Intact proleins absorption in infants Is crucial for
distal jejunum immunoglobulin transfar
§ Choosa tha correct statement about Hartnup's 8 Regulation of sallva is by:
| diseasa o {
" {a) Tryptophan absorphion is the most effecled {a) Unconditioned reflex
{b) Tyrosine absorpton is the most effecled (t) Condilional Reflax
{¢} Phenylalanine absorption is tha moal effected (c} Sponlanecus secretion
{d) Vitamin B12 Is inadequata (d) Al of the above
7  Regarding saliva which of the following is incorrect: | 8 Gastric julce contains all of the following except
{a) Contains amylase and lipasa (a) HC
() Conlains salivary proleolytic enzymes (B) Pupau'}
(c) Contains secretory IgA and lysozymes (c} Intrinsic factor
{d) Contains peroxidases (d) VilaminB12
8 Chylurials the 10 Most Dietary TAG Is absorbed from Intestinal lumen i
aher hydrolysis as
{a) Excretion of milky unne {a) Glycerol-P and FA
(b) Obstruction in transportation phase of lipid (b) Acyl CoA
digestion |n lacteals
{c) Anabnormal connaclion batween urinary tract and (c | CoA and
lymphatc drainage : ey glyceral
(d) Al of above {d) FAand2MAG
combinas with a protein co-enzymo called
(a) Contain mosily TAG (@) Amylase
(b) Are secreled by inlestinal epithallal cells (b} Kinin
{(c) Are mainly absorbed in stomach wall {(c) Pepsin
(d) Are smaller than dioplets of emulsified tats (d) Colipasa
13 Activation of fatty acids inslde the intestinal muc i
calls Is by 0832 | 14 2-MAG is converted Lo 1-MAG by enzyme
{a) Apo-B4B a
(b) Pepsin Et:; upsse
(¢} Thicklinase ['C} Chal S8
{d) Lipase a) esterol esterase
(d) Phospholipase A2
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/ PRUIEINS & LIPID METABOLISM - 2019
/ SECOND YEAR MBBS - M(0s

o hesl ANSWEL.

ing or oveswriting will not be actepted and no marks will bs given even if the answer Is correcL

Marks obtained:

Total marks: 30
Time allowed 20 min.

: g-puidation of fatty aclds occurs mainly In

(i) Bain

) Mustles

ff)  Liver

{4  Adipose tissue

¢ Activation of [atty aclds requires il of the following except:
(3] AIP

(b)  Coenzyme A
(c]  Thigkinase
(€} Carnitine

(a] Cephafin
(t) Cholesteral
() Lipguin

(4) lekaotriene

] Lovastatin, & cholesterol lowering drug Is a 4 Whichof the [ollawing enzyme is Inhibited by Aspirin
[ Competitive inhibitar of acelyl-SCoA tarboxylase (4] §Eparygenase
(b]  Competitive inhibitor of acetyl-SCoA dehydrogenase (b] 15 hparygenase
()  Competitive inhibitor of KMC-SCaA synthetase (] 12 lparjgenase
[d)  Competitive inhibitor of HMG-SCoA reductase (d) Cyrlo-orygenase
S As[or Lhe density of lipoprotelns |s considered, whichonels | 6 Mast of the reducing equivalents (NADPH+H+) utilized far the
the correct arder from lowest to highest density? synthesis of fatty acids are generated from
(a]  LOL VLDL KOL, Chylamitrans (a] Chyoiysis
(b)  VLOLLOL 0L HOL (o] HMP shunt
[¢) Chylormceons, VLOL LDL HOL () Gluconeogenesis
[d)  Chylomicrons, LOL, VLD, KOL (@)  Cluric acid tytle
7 Hepatic lipogenesls Is stimulated by 8  Bile aclds are formed from cholesterol in liver by losing:
()  Epinephuine fa) 4 rarhons
) Gluzagan {b) S carbans
[(] lnsufin () Yearbans
(d) cAMP {0} 2carbons
§ - End product of B oxidation of 21 carbon fatty acid will be 10  Which o] the [ollowing enzyme Is absent in liver
(4]  Atetcatetyl-SCoA (8] Thiophorase
(b)  Acetyl-SCoA (b)  Cheogen synthase
()  Propionyl- SCoA () Phosphatase
(6]  Succing- SCoA [d) Phosphorylase
11 Biosynthesls of sphingosine requires 12 As regards salivary lpase
[a)  Palmityl-SCo A » glycine (3]  Nconverts [atino menpacylghycerol b 2 fatty acids
(b)  Paimiryl-SCo A - serine (v)  Diacylglyceerol and a fatty acid
(] Pelmityt-SCo A - yrosine ()  Clyceral and three fatty acids
(4)  Palmityl-5(0 A - thregnine (4] I has noeffecton [at
13 Phosphatidic acld Is precursor for the blosynthesls of 14 W Oxldation of fatty acids will yleld

(3}  Palmityl-SCoA
()  Succingl-SCoA
()  Dicarborylic acids
[d) Lecithin
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CLASS TEST ON LIPIDS - 2018
FIRST YEAR MBBS PART [ - MCQs

Marks obtalned:

Tota) marks: 30 - ok - e ———
Time Allowed: 20 minutes i '. ' )
Select one best answer - . - N 3 A

' f";"":‘" s ':"“::';" of 3 |2 which of tha fotlowing has the lowest dansity?
n) - Tty acic snd ghyca - S R T T d f

(c) Falty acid and sphingesine 1 (] Chylomicrans.

{dl Fatty ackd and cholasioro! '! . (d) High density lipoprotolns (HDOL)

] Acela scotic acid s 14 “Maximum energy |s obtained by the oxidation of

fa) Bieasd . a Glmh dratos -

[y Aila sat Eh} Protai nz kil - -
| (e} Bieprgment- ) -~ o) Fom - ——
| [d] Helone body f I (@) Both (a) & (B) are comrest .

- -.s-\. a .-l"l = [ 5 & :
| 5  Chylomicrons are rich in 1 .| 8  increased lavel of katone bodios |3 cbserved In
| (a) Proteins ] (a) .Hypari=nsion -

(b) Phespholipids + b |- [ Diabetes mailitus _

(c) Chelestercl . () Hypoglycemia - e E

(d) Tracylglyceral ’. ' {d) Nephrgtic syndroma

7  As regards ergostarcl which of the following Is —. 8 _ Which of the lollowlng nitrogenous alcohal Is prosent
wntrue? | In cephalin?
fal Itis asteroid present in plants i b 1 h {a) Choline
i0)= It has mofo doukle boncs than cmruluml =« [ - (b} Setine = 7
{g) It is nol present in amimals L (2} Threonira
(dr==it has 27 carbon atoms : : . {d) Ethanclaming
b “ i = F = f
h | PGEz will be derived from 10  Leukotriena has
la) Eicosalreingic acid . {a) Three doubla tonds
o) Eicosaletrancic acd - ib) Four double bonds
[z Eicosapenmanolc acid () Two double bonds
{d} Hath {a] & (b] are comect (dy Mo dousle bond
“ Chaleslerol Is 2 12 Which of the following is not an essential latty acid?
(At Soluble inwater I . {2) LUnoleicacid
B} Insoluble in grganic solvems | (o) Qlaic acid
ic)  Sciubla in beth water and organic soivents . {z) Unelinizacia -
4) Sclucle in grganic salvents | (4) Arachiacnic acd
43 Linoleic acid is 14 Which ol the following lipoprateins has highast
cholesterol content?
(a)  Eightean carton wilh thrae double bonds : (a) HOL
(b]  Eightean carcon with four doutle bands | ! ~(mp VLOL -
{e) Twenty carbon with four double bonds | (=) LBL
id] Eightesn carbon with two double bands . {d) Chylemicons
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15 Codons ars present of 1€ In
Guanosine contant of D
(8] DA adenine content will ba NA2% of T Dm
- f {n) 308
(c] rRMNA o
@  mRNA @ 0w
1T The structure of IRNA appoars fike
18  InDNA pentosy
- from Is deoxyribose, which loses oxygen
(b} Hebcal {a) Carbon No, 1
(© Clover leaf (b} Carbon Mo, 2
b (€) CarbonNo. 3
Colled (9) Carbon Mo, 5
19 Type Il transTer RNA will have
20 In posttranscri ptional changes In tRNA & tic
{a) 2bases on variabla arm joses Introng T
(8] 3bases on vanable arm (2 18
{c) 4 bases on variable arm (%) 18 Introng
{d) 11 bases on varabls arm Il:::!,l ;; lrr:r;;m
ns
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Total marks:

j\ AZRA NAHEED MEgDICAL COLLEGE

r-...-l-
% &1 DEPARTMENT OF BIOCHEMISTRY
CLASS TEST ON NUCLEOTIDES
MBBS PART I - MCQs "

20
20 minutes

Tim

¢ Allowed:

All MCQs are to be attempted an
Any cutting or averwriting will not

3. Write your roll no. only on the perforated portion of the title page.

Instructions
the paper and returned to the invigllator within glven time.

be accepted and no marks will be given even if the answer ks correct.

4. Do notwrite your name or discuss vour [dentity in any way
4 Pseudouriding arm of tRNA has base sequence 2 Non coding reglon of DNA Is called
1a) GGU {a) Exon

v) CCC (b) Introm
(¢) TVC {c) Codon
(d) AGG {d) Neutron

3 Stopcodonis 4 Initiation codon is
{a) AUG {s) GAG
(b) CCU () GAC
(¢} UAA (c) AGG
{d) AAG (4) AUG

§ 7 methyl guanosine triphosphale cap Is present on & Varlable arm is present on
{a) Transfer RNA {a) Ribosornal RNA
(b} Messenger RNA (t)  Small nuclear RNA
{¢) Ribesomal RNA (c) Helerogenaus nuclesr RNA
(d) Small nuclear RNA (¢) Transler ANA

7  Longer arm of transfer RNA (Y'end) has terminal £ In posttranscriptional modifications, tRMA loses from
basa ssqueance iz E'ond
ta) GGU (a) 13 bases
b} GGC {t) 18 basas
{cy CCA {c} 15bases
id) CCG {d) 16 bases

g9  Poly A tall Is present on 10 Which of tha following has maximum numbar of minor

bases

(a} 5 end ol IRNA (a) 1RNA
{b) 3'endof (RNA {b) rRNA
(c) 5 end of messanger RMNA (c) mRNA
{d) ¥ end of messenger RNA (d) Smafnuciear RNA

11  Anticodon arm ls present on 12  Which of the fellowlng base palrs will hava 3 hydrogen

bonds?

(s) Messanger RNA {a) A=-T
() Ribosomal RNA {B) A=U
(e} Transfar RNA (e G=-T
{d} Helerogenous nuckear RNA () G-C

13  When ATP changes to ADP 14 Pyrimidine nuclootide is
{a) 14.3 K.Cal are reloasod (a) ADP
(b 7.3K.Calare released (k) GMP
{c) Noonergy |s released c) IMP
{d) 5 KCal energy is gainad I () CMP

PTO
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ed 4710 marks will be given even If Lhe answer is torrecy flmé dlowed 20 min.
Xt e ﬁ%
¢ Amino atids without genetic code are -
(1)  Hydory'ysine
] (b} Hydroxyproline
(€] Selenatysieine
{d}  Anof the above
by alanine aminotransferases whichof 4 Which of the follawing amino aclds participates in coenzyme A
act as reciplent of amino group? synthesls?
kecadcids €39 g ]
(3) Serine
&t
warae (1] 'j’fﬂﬁml
" (c] Histidine
{d) Cysteine
ghrose Alanine shuttie Is present In between 6  CGlutamate dehydrogenase is present in
[i}  Lwver b Brain (a) Cytosal
n;l} :m:: ;}:‘I;:;::E le {h]] Endoplasmic reticulum
f(]  Mus r t] Lysosomes
(4) Intestine b Muscle (d) Mitochandria
7 Kumber of ATPs used in the urea cycle are 8  Ornithine enters mitochondria in urea cycle by
(a1 (a)  Active transpon
) 2 (b)  Dilfuslon
[} 13 [()  Special transport system
(] 4 (@) Malate shuttle
9 Ammonia Is toxlc because 10 Inthe blged, smmania Is transported In the form of
(2)  Alpha-ketoglutarate is not converted into glutamic acid (3)  Aanine
(b)  Clutamate is not converted into ce-ketoglutarate (b)  Glutamine
(<) K blocks the urea cyce () Urea
(@ R blocks glycalysis (4] Allof the abave
Involved In the synthesis of Nuric Oxide (NO) [rom
1 Mf'“m’“l:t X ychests of o)y 12 Amino acid which Is not degraded In iver
(4}  NO synthetase {a) Leucine
(8]  NOsynthase {a)  Isoleucine
() NOwansferase (] Valine
(4]  NO rarbaxylase (@)  Allofthe above
13 Homocystinurla Is the sutcome of defective metabolism of 14

la]  Cysteine
(b)  Hethionine
[()  Tjosine
(4)  Ghyine

Source of carbon of urea synthesis comes [rom
(4) Clucose

(b) Ciycine

[() MOy

(4] Methionine
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15 Steatorrhea Is 18  Ubiquinone Is: ‘—\\
(8) Excretion of cholesternl in feces (8) Present in complex 11} ,
(t) Excretion of chylomicrons in faces (b) Present in compiex Il
(¢) Excreton of large amount of fats in feces (¢) s apar of complex Vv
{d) Excreton of bile salts in urine (d) Is a mobile electron carrier
17 24 DNPIs: 18 Rotenone is: .
{a) Aninhddor of ETC {a) Aninhibitor of complex | in ETC
(b) Anuncoupler of ETC {b) Anuncoupler of complex|in ETC
(c) An antidote of cyanide poisoning {c) Is &n inhibitor of ATP synthase in ETC
(d) An anbdcte of CO poisoning {d) Is an inhibitor of cytochrome oxidasa in ETC
19 The reduced equivalents of tertiary metabolism that | 20 In ETC cytochrome ¢ Is: e
enter into the ETC are:
{a) MNADPH A FAD (a) Complex IV
(t) NAD & FAD {b) Complex il
(e} NADH & FADH, () A mobile electron carrier
{€) 0O:8HO (d) It pumps protons out of mitochondrial matrix
(a) Punp:m.rupmtnm;.:nfhmm (a) Complex iV
(b) Pumps in 4 proteins into the matrix (b) Succinate dehydroge
{c] Pumps out 2 protons out of the matrix (c) Pyruvais mrﬂm.n'lﬂ“m:‘
(d) Syniheuzes ATP (d) ComplexV
23 In ETC an Hﬂcﬂ“ﬂlﬂ: 24 Thl'ﬂ‘nug'ﬁln s
{a) Stops the fiow of electrons (@) A natural inhibiter found
(b) Siops the pumping of protons (b) A nalural uncouplar in infants
(c) Uncoupies the mobile carmers from ETC (€)  Only found in infants among h
{d) Uncouples the andation from phosphorylation (d) Both (b) & (c) are correct AN
| 25  When energy from a high energy compound Is 28 Which of the follow!
directty transferred 10 nucleoside diphosphate to Transport chaln du:ﬂm::::: In Electron
form a triphosphate without the help of electron PUMP Protons out of the mitoche :’I:_?lugh energy to
tranaport chaln it is called: n | matrix?
{a) FRegox potertal (a) Complex|
(b} Redox couple (b) Comgplex 1)
(c) ATP sythase complex (e) Complex il
1 (¢) Suoatrate level phosphorylation (d) Complex iV
l
27  Electron transport chain In located: 28 Citric acld cycle (Krobs® cycle) takes place:
| (a) In e cyloplasm {a) Inthe cytopiasm of cel| '
| (p) On the outer side of outer mitochondrial membrane {B)  In the cytoplasm of mitochandria
(c) ©Onine mner sce of cuter mtochondrial membrans t;!l :n the intermembrancus space of mitochondria
(¢) ©On the inner maochondnal membrane {(d) tn the matrix of mitochondsia
|
: nner mitochondrial membrane is: 30 Cyanide combines with; —
2’ I.w’.”mﬂm ‘l] IfmhFi"mllinmnpl“w
(@) Permeatis oniy 10 M one (b) lron in Fe'? stals in complex
(el (e} lronin Fa*? stats in complax IV
:;; Freely permeatie (d) CuA & CuB in complex IV
_-l-'-.—--—-__
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I Present in complex |
[s & part of complex V
is a mobile electron carrier

inhibitor of complex | in ETC
:n,n uncoupler of complex | in ETC

{8 an inhabitor of ATP synthase InETC

is an inhibitor of cytochrome oxidasa in ETg

38 poisoning (d)
;:; a .mu::nl“" —
(a)  Anamacd 20 InETC cytochrome ¢ Is:
polism that
of tertiary meta
13 The reduced equivalents Complex IV
J gnter Into the ETC are {‘;]j o ex i
AFAD eleciron carmier
(a) NADPH (c) Amobile .
AD & FAD ons oul of mitochondrial matrix
I Iﬁl :::SH‘FAE*L- (d) It pumps prot
a i MO - -
J | 72 ATPs are syn theslzed In ETC by:
Comp in ETC: Complex IV
& J :u::i:.uwwﬂn“*"'“‘“ r‘;: summmrmmm"
[ :;} Pumps in 4 proteins inia the ml'ff“m (c) Pyruvale dehydrogenase
icl m:m?ﬂm“ﬂ”m'm (d) CompiexV
‘ (g SyrhesTes ATP .
24 Thermogenin ls:
23 InETC an uncoupler: (a) Anatural inhibitor found in infants
I a) Siops Ma fow of elections A nalural uncoupier
'| tb; Sops wmﬂ 4: protona bom ETC :E:; Only tound in infanis among humans
' Uncouies (De camers & (c) are comec!
| 1S Uncoples the oudaton from phosphorylation (d) Both{b)& (c)
|
l nergy lowing complexes In Electron
" mmmlmwmmﬁm: to . :’v:::;‘::'l:;:;l ﬂml:"“ libarato '";}'f:.:::;w N
lorm I"I-I"lphnlphlll without the help of electron pump protons cut of the mitochondr
transpor chain It is calied:
|8 Fedgs potertasl {a) Complex |
| i5) Feoos cwupie (b} Complax li
' i ATP yyrinase complax {e) Complax ll
{8 Suearee weel prosphorylation {d) Complex IV
L
. " T’:‘:"m chain In locatad: 28 Cltric acld cycle (Krebs' cycle) takes place:
| it Ayt (a) in the cytoplasm of cell
i CnTe o soe of outer maschondrial membrana {b) In the cytoplasm of mitcchandria .
e EET 1% &l uler mitochondrial membrane (c) in tha intermembrancus space of milochondiia
— < miSthendnal memtirang {d) In the matrix of mitochondria
B g
. Chordrial
P wﬂ':':.hmm .| - 30 Cyanide combines with:
e mrh W s {a) lron in Fa*? state in complex IV
L5 1'-' h'ﬁ IF:; ‘[rm :11 :..‘: :!l:ui]ﬂ mﬂp]llxr\i;
il ron in Fa™ alate in complax
““H-H_.____‘_L______ (d) CuA & CuB in complex IV
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SEND UP EXAMINATION - 2018
SECOND YEAR MDUS PART 11 - MCs

Marks ahial nied:

Accidental Ingestion of 2.4 Dinltropheno! will result in |
(8 More ATP ayrthesis

(] Tharmogerasls

(e} Incresssd syntheals of uracd

(d} Reduted meduciion of HADH

Stealorrhea ks caused by

(@) Malateorpton of fats

b  Malabsopion of protein

(i} Lsctoss iniolerance

(d)  Mautsomplion of camobydrates

Sescondary blle scids are synthesized in
(a) Siomach

(b} Lives

e} Pancress

(d}  Imloatine

For glycoganesls, glucose should be first convertsd
e

{a) UDPglucose

For Iha continuity of citric szid cycle, which of the
lollowing compounds should be regensraled?

(@) Matata
() Sorbital (b} Caploacetsts
fe]  Lactic acid (c}] Furnarats
(d)  Pyruvic sad (f) Suconals
T During starvation, the first reserve nutrient 1o by &  Allof the Iollowlng stalements about albinism ere
deplatad |a cormect axcept
(a) Tracylgyceral (a]  Tyrcainase in caficeent in melanocytes
b}  Glycopen (&} Skin ls hypo pigmented
(t) Proteins (Gl Eyes are hypo pigmented
(d) Cholesters (4] R reqults in mants] relardation
3  Dlbeles insipidus la caused by the deficlent 10 lrritabllity, tremors, inlclerancs Lo he
secretion of §lucoss level arw Indications ol SR8 higt bied
{8} Insulin (8) Hypothyroldsm
(b) Glucagon (&) Cunhings syndroma
{c) Oxylocin (€} Addison's diseass
(d) Vasopressin (d] Hyperthyrolcsm
11 Secretion of epinephrine will 12 Allepurinol, which ts used for the reatmant of gout, iy
§ compalitive Inkibitor of
{a) Stmutate ghycolysia (8)  Glycogen synthasa
(0] Inhibil gluconeageneais (b Calolase
(e} Stmulate ahmgurnm_ (e}  Xanthine pxidase
(d] Stmulste glycogenchysis {9} Abalra phosphatass
13 Okarakl fragments sre rolated to

(a) DNA syrthmiy
(] Protein gynthesis

(c) mRNA gynthesia
(d] IRNA gynihesis

14

In the biowynthesls of pyrimidines

(8] Tyrosine and senne are acded up o form PyTimidire

(t] Glycina & mathioning wre sdded up Io term
PyTImicineg

{c) Aspartic scid s incomparated ay § whla

() Wﬁtlmmﬂmmw!mm
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Marks abtained:

; TEST ON CARDOHYDRATE METABOLISM
r, MBBS PART 11 - MCQy
A ————————————————————— — — S —_— _ — ————
Total marks: 20 February 06, 2018

" Time Alowed: 20 minutes

Select one best answer

== — —=

ﬁ

r

—
—

T Which of e following step of TCA cycle will liberate

2 In gluconsogenasis, for Lhe conversion of pyruvais
CoyT phosphoenc! pyruvate enzymes required are are
E;: Crxe “‘mﬂm_ {s) Hexckinase and glucckinase
= Sucoemt = BuCCinate (b  PFK-1 gnd PFK-2
— [
Lialate — oxaloacetst (c) Pyruvate dehydrogenase and pyruvate 10
(€ a-ketogilarate — Succinyl SCoA (d) Pyruvate carbexylase & PEP :Irbunh'l::nmu
3  InTCAcycle reversible steps are 4  Gluconeogenasls takes place In
:;: § ﬂ -: {a) Milochondria of hepatic calls
o ot (&) Cylosal of hepatic celly
% SemiB (e} Inmuzscles
(d) Bothin mitochondria & cytosol of liver
5  Glycogen synthesis will be activaled when &  Which of the following stalements about Von Glorke's
[ Giycogen dissase is untrua?
a) syrthass is phosphonylated (a) Thetewllibah i
yroglycem:a
(&) Giycogensynthassis caphosphorylated (b) There will be hyperglycemia
(5} Phosphorylase s phosphory'ated (c) Thers will be hyperipldamia
() Debranching enzyme is activated (d) There will ba hepatcmegaly
T Fruttose 1,8 bisphosphatase Is the enzyme of 8  Transaldolazs transfera
(3} Gly=slyss (a) Twa carbans from kelos
losugar 1o aldesugar
(o) Glycogenclysia (B) Three carbans from aldosugar to kelosugar
() Giycogenesia (c) Two carbons from aldosugar o ketosugar
| (= (d) Threa cartons from ketosugar to aldesugar
9  Aldolase-8 converls 10 As regards citric acid eycle which of the stalements is i
untrue?
(a) Fruciose 1,6 bisphosphate to glyceraldebyds-3- (2) Threa NADH + H* are farmed
PO, & Dinydroxyacolons phasphate
(b) Giucose o Glucose-1-POy () One FAD" is farmed
{c) Fructose-1-phosphats o glyceraldehyds & ic) One GTP ig formed
Diwydrexyacetons phosphate
(f) Frucicse-1-phesphate o glyceraldehyde-3-PO, & (d} Ona MNADPH + H* s lommed
Dlrydroxyacatone phosphate
11 As regards Glucagen which of tha following 12 Conversion of Glucose-6-phosphats 1o Glucosa-1-
siatemants is untrus? phosphate requires
(2] Glucagon stmeates gluconeogenesis {a) Isomerase
(5} Glucagon stimulates glycogenclysis (&) Epimerase
(e} Glucagon inhibils glycogeness {c) Mitase
(d) Glucagon stmulates g'ycolysia {9 Hydratnse
13 Which of the foliowing statsments about insulin Is 14 Glucose-8-phosphate dehydrogenasa is the enzymae of

brue?

{a) Stmulais ui'fmglrucl_

(b) Sumuiate glpcogenciyss

(g} Irhabels plycolynis

(4) Strmulates gluconeogenews

(@) Glycogenesis

(8} Giysolysls

(e} Uronic asd pathaay

(d) Hexose monophosphate shur
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15  Glucoss-8-phosphats dehydrogenasa s the enzyme | 18 In hereditary fructose In;r-.','.';.‘;-.-..:"-.
of -
(8) Girzogenesa (3) PFE-1
(&) Ghycayes (v) PFK-2
() Uronic acid pathway (¢} Pyruvate carboxylase
(€} Hexcae monophosphate shunt (&) Aldolase-B
7 :mu. one of the _:uﬁuw‘mu does not taka part In 18 Glycolysls is Inhibited by the Increased jpr——
(a) Giycerd {a) ADP
M) Pyrvate b} ATP
(&) Ghisogenic amng scids g} Insudin
(4] Palmityl-SCoA id} PFK.2
19 HMP shunt and urenic acid pathwa
s ¥ collectvaly 20 Increased level of sorbitol can lead to following
() MATP :‘-ﬂ;mﬂﬂ-:ll:innl prcept:
) 18ATP % Cataract
2] QATP (b) Neuropathy
(€} NOATP (<) Ratinopathy
(9}  Albinism
21 Threw differsnt enrymes COMNIymEs
found In and five e 22 One statement about hormanes g | =
(2] Glucose-B-Progchats deMydrogenasy e
(5} Galactzse-1-Presphste pyrophas (3)  Insudin gtimytstg
Bhorylasy iy
:;} Giycogen synthase (&) Glucagen uimuﬁ?ﬂ#ﬁ“' inta the cell
Pyruvste defydrogenase Comphy (€)  Eginaphring i hyper Fenesls
(9] Thyroig hormena is hw hormeong
=Ty 1"
Which
| one of the lollowing snrymas has no role in 24 H"‘I“:ll'll:!l'r___
{8) Tramsaeizlase acld cycly ary
Elj ﬁm:ﬂu :::].' ihmﬁ:..::dm'“ Byfthasg
malat
(2) Glcose-f-phasphate dehydrogenase E:?} ;;‘:f;ﬂuﬂarm u.p.;ﬂ:a::];‘:f“““l
B c
*Wﬂm:rm ang T'Fhl '-:alnmmfr" & sconjiagy
28 Citric scid cycls is sctivated by
(4] Incressed level of PFK-1 Cycla? FRropriate statemen; ap
(8] increazed ievel of corate () 1n TCA cyciq 1g SHTeA
g} Increased level of ATP (B InTca Sycle ATP arg 1
(@) Incressed wvel of NADH « i~ (=} hmmﬂﬁTFlmh
(@ in Citric, acsg /o VEATP arg formey
JATP arg |
=7 1.3 bisphosphoglycersia is formed in - Brrp
(g) Ragaport Lelerng cyce m
b Coms acic ocki cyce B b o
{5 Lacrcee wiziarance o Muscies
) Botn {a) & (v 0rq carreey
“ra  Substrate level ATP formation sccurs in Blrcatyaia 10

|9 3
whidf

ructose 1.8 Daghospha's A canvertsd ig
:.prm‘dl""r'-" 3 PO & Dvyroryacatsng P,
" “m',uu" o Corewringd 13 2.
3 ,f."l!l .
¥ ﬂ‘ﬂm,.;tcm-ﬂurrﬂm‘_ﬁ
Fhalrrﬂl
£ yrsrEe B CSTeeted 19 pyry.alg

I ol

I eytonal
mitochandta e
P"udll-l lian will h

la) 258

[
ugh aap

el 15
€} 20
g} 18

g S

B
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6 The major catabolite product u}_;‘"\

15 Leash Nyhan syndrome is mammals is rm\
(3) Duatathe ceficency of hypexanthine guaning (a) Urea
phosphorbosyl ransienase

b  Phaspherbosyl synthelase {b) Guanine

(&) Carbamoyl phosphate synthetase fe} Uric acd

(#) Phosphorylass kinasa (d) p-alanine

L 8 The new DNA strand which is copied away from
(8) Coding strand on DNA rep Hﬁuln fork is called \ |
(b)  MNan codng strand on DNA, (@)  Coding strang A
(e} Coding regan on (RNA (B) Template sirand |
{d}  Mon coding region on IRNA (¢} Leading strand
(d)  Lagging strang

18 The development of ney
mellitus |s "“Pmmgm retinopathy in 20

End product of
(a)  Increased synthesis of § be xldation of odd chain fatty acid
atty acids s will
ﬂ Increased breakdown of fatty amds () SCaA
; &) My
() Cormversion of glucose io BOrtind {c) Em?nr:qsa%u
" :h;mn':" following amino acids s incorparar—
molecy Omes
4, 8 and seven of pl:r;::!r the atom numbey 2 The Mutation i
Bame amjp which chan
(2) Histicting @ acids iy Calleg 00d bage, Codey 1,
) Hydroxy Proling B) g ee
(4) Giycine fc) Elh*ﬂnn“
{m Fl'ln“ 'h'h
n thhul'muu folliowing statement iy untrus abogy ]
pancrastic hormones 7 4 ANy
(8) Insulin sbmulates pogenesis RLcap). HI“’"'“U 2boyy nh..-.m
{a) Uring el
E; L,m_h :_m ﬂ*rl?{l:;mnh':nn-:h“ (b lactaiy ;':&T O bheny, Nuria gy €orrgey
h
(9] Glucagon strmulates gluconeogenesis ey p,ﬁ'“m ;.,,,,':: H'm..,t-.,.,d“
G Mo s, e
Calnchg, LEPe COMNygey al
-] wuhm!mﬂm“mumﬁ_' % n ""‘"ﬂm:f““"“‘tumu;:ﬁu .nrf::
oem Ismeng
(8) Fres smmonia ek Ginggq feny) -
(t) Glasmine ) Cor ' from
(&) Alanine [ I-hu::.h"' Auficiy,,
(@) Tyrosine (€} Sphingom ¥ of
I1  Clay colored slools are dus 10 AbEsnce of 28 mh“h =
Nalury 7 "] Pathy,,
(a) Bis stz % Corie e iy iy
it} His pgmenis ) G.ﬁ,“::'.d Cycig Phibgyg : j
e} Vraman D B} Uronic gy i
{4} VoasTun A

n Llpnﬂﬂhlplnhﬂ'ﬂﬂ;' 30 :l:-p:.m,“m“h‘““
Triscylplycerol presend in chylomeorons a uiy o
:':: Ligthyl Masormd SCoA 1o Seccimyl SCaA EW ;‘m“"“ﬂﬂm, e Iy
(el PGHy o PGhL o Fetanfcon )
(@) PGEsio PGF; () Ovarcicae oy =01
=g
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:;‘.;LH r oF BIOCHEMISTRY

Roll Neo. ¢
Marks oblained:
TEST ON G.LT. & BIOENERGETICS = JAN. 1019
SECOND YEAR MDBBS - MCQs
3
10 minuies
ect one best answer
E— - —

Which of tha loflowing statements regarding lipld

{a] Trypsin
(b} Carboxypephdase

1 digestion and sbsorption is trus? 2 The lunction of enryme enlerokinese Is o
(a) Pancreatic lipase emutsifies Ipids (a) Causa bicarbonate secrelion by (ha pancreas
(t)  The products ol bpwd digestion are resynthesized (b) Stmulate secretion of gastnn by ihe slomach
inta iriscydgtyooroda n intestinal ephetisd cofla
() The products of Iipid digeston are resynthesized fc) Actvate lrypanogen into trypain
into micelles I inlestinal calty
(d] The producty of lipid digestion are absorbed by (d) Actvsie pepsinogen inlo pepsin
aclive transport
3 The Gall bladder: 4  Which [ the Inhibitor of gastric julce secretion?
(a) Synthesizes bile {a) Cortcostercids
(b} Stores bile (v) Cafleina
ic} % shmulalied 10 contred by he harmons CCK il Hslamina
idy BandC {d) Secretin
§ 14 glycosldic bonds is cleaved by which of the i Proleclytic are produced
; v . enzyman by
(a) Makaso {0} Siomach
(b) Isomanase (b} Small intesting
ic) Amylase {e} Pancreas
(d) Laciass (d} Al of above
T Endopeplidases include all of following, axcept |

e} Chymotrypain (€} N converts proteins 1o protecses and
id)  Pepsin [0} Pepsin & an exopeplidass i
§  Regulation of sallva Is by: 10

Which cf the following regarding Pepsin Is correct?
{a} Secreted by oxynbc cells
(b} Converted to pepsin by Trypan

{8} Uncondidoned refiex
(b) Cenditicnal Refay

{c) Spontaneous secrebon
(d] Al ol the sbove

Regarding sallva which of the tollowing is incorrect:
{a) Contains amylase and lipase
(6) Contains salivary proteclytic

enzymes
(€} Contans secretory igA and B0Zymmes
-] Cnnuimpumjh:ln:ﬁ ey

n

Gantric julce conlalne all of the following secept

Chyluria in the

i) HCI
: (a) Excraton of miky uri
(6} Pepsin uring
(b} Cosiruchon in transportation phase of lipid digestion
(e} Intrinss in lacinals
e () An abnormal connection batween urinary tract and
(4] Vitamin @ 12 lymphatic drainage
(d) Al ol above
13 Activation of Ia id
colls by by Wy acide Inside the Intostinal mucess | 14 Calclumn lons facilitats sction of lipase by
18}  Apc-Bag
(b) Pepain {8)  Facilitaling the binding of Ihe enzyma 1a tha lats
6]  Thiskinasa (b) Inhibition of emulsification
(9 Lpase {e) Micela formation

{d) True solution formatian
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18 Ubigquinone ls: \
I’ torrhes I8 (& ;ras ::rr: S;:nnppll:’:: lrlu
(15 S in feces {b) ef
W Em:mhml - (c) Isapan of complex V/ .
Il:;l' [mlll n of larpe arnount of fats in (d) Is a mobile electron carrier
18 Rotenone Is:

(8) Aninhibitor of complex | in ETC

7 N
| (0 Amhdax of ETC (b) An uncoupler of complex | in ETC
[ ® An umﬂl; of EE. , (c} Isaninhibitor of ATP synthase in ETC
f&  Anantdote of cyamde poisoning inhibitor of cytochro i
s i (d) Is aninhi cyt me oxidasa in ETC
,'. " The reduced equivalents of tertiary metabolism that | 20 In ETC cytochrome c is:
| #riet [nte the ETC are:
| (8] NADPH & FAD (a) Complex IV
| (8 NADAFAD (5) Complex I
(& NADM § FADH, () A mobile electron carrier
J @ O3 M0 (d) Mpumps protons out of mitochondria matrix
1 Compie _
AW mETe: _ 2 ATPs aro synthesized In ETC by:
B P s poy el D4 ma (@) Complex v
t "3 1 4 proteing into the ratrd
4 608 0t 2 protons out of the matry Eh] Sucdinats dehydrogenase complex
[ Sytreszes ATP [;:; g""”:?‘“ gﬂhrﬂmﬂenm complex
omplex
3 I ETC an
B oy Petowor % Thermogenin s;
¢ e pumpeng of (a) A naty
Protons ral inhibitor foy
:;JJ :: mobile carrers forn - E:i.l 3:1 atural tor nd in infants
Uosiey Codation from Phosphorylation (d) El-:.ltll;F IE?T{E Iun:.&nn:::;tung tiant
When tnergy from »
directly trang high *nergy compoung Is
form o Mh’“mmﬂ::uwm o |® m',f,"pﬂ"";; o orng complexea In Electron
Fanep0nq chain N electron no rate enough ene to
b Bage, pos H!h c2lled: PUMP protong out of the mltmhnndﬂl%l:l{x?y
o R!‘}".-I mp,.“ {I} C : I
.‘;, ;T,_:;m"“ COmpley (b)  Complex :I
TEE e Phosphorianon Eg}; Ccmx m
X IV
) i POl chain in locateq. 28 Citric acld cycle (Kroba' o le) takes place:
&) On ":m e (n) I:\:lht::h:u;: n: :-:c
€ Onp 138 of cuner mtochondnial mambrana (B}  In the cytopiasm of mitochondria
lay mm"":‘:l ﬂwmﬂﬁﬂwr::ﬂmwm ::111 :Et:in%wn?ﬁlmmwmmmndm
T T —
hondrial mambrany ia: 30 Cysnide combines withi
ta IV balacive - ran in Fe'? stele in complas 'V
'I.l\g Pormestiy m,'tl,“»?f"u':.:““' lu:E .;lr'::'l.: ';:: . wm.wlt v
a3y Fiﬁym f:g'.l CuA & Cull in :
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i Do
.___..._——-—'""'_'_'_'___;m stimulate

T e ) E
| 16 End product of Odg chajn 7.

Increased level of glucagon (a) Malonyl-SCoA My
' e Glycogenesis (b) Methyl Malonyl-SCoa :
) fa) (c) Propionyl-SCoA
-'.- g Lipogenesis (d) Succinyl-SCoA
h {d) Gluconeogenasis (e) Acetyl-SCoA el
() Both(x) i ek e 18 Which of the following compoungg |-
47 Regulatory step in cholesterol biosynthesis intermediate in ketogenesis & chgh:t;*;-.,y
: (a) Succinyl-SCoA ¥
(8) HMG-5CoA reductase (b) Citric acid
(b) HMG-SCoA synthase (c) a- ketoglutarate
d HMG-SCoA synfhofass (@) Acetoacety-SCoA
imityl-SCoA
(@) _Phaosphorylase (6 £ oADK .
19 All of the following statements-about ketone bodies | 20 All of the following statements about eicos anm.,;,';iut
are cormect axcept correct except .
{a) Synihesis of kelone bodies is increased in diabales (a) Emndﬁammiymmnmﬂunds
medlitus
(t) Theso are synihesized in milochondria (b) Lipoxygenase is Jnhibited by aspirin
91" Wichueted eve! of heie ocies SHn Ospiete o kall (e "M'Mhaﬁd OH group at 15 position
dj - Synihesis of kelone bodies is dacais. except PGG j
2 ooty ) (d) Leukotrienes have three double bonds
(e)  Liver cannol use ketone bodies mlﬂli‘. 6 bt .
21 Energy liberated from palmitic ad::m (¢) Lipoxins have four altemate double bands
ito-oleic
::1“52.: : % InNie Mann Pick disease there is deficiency of
(b} Palmito-oleic acid will gi (a) Ceramidass
palmitic acid give more energy than () Ganglicsid
(c)  Pamitic acid will Bive more ' ass
(@) Unsaturated fatly acids give : Arylsulfatase
saturated falty acidg More energy than

(%) _Both (a) and (b) are comect
21 Apo-BaS is the
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I‘I ical College, Lahore-
Azra Naheed Med 9

fm.m} ﬂ_-HH'I II-I
Tmmmmuamdﬂﬂw* — |
oy roken dawn 10 OSCE i

]
b) Uronic ackd pathway
' Citric acid cycle
oo s of citric acid 1?::,m“:ummhmm¢wﬁmduum
ﬁwﬂmdﬂ-thﬂuW i
e a) Hexokinase
a) Oualoscetate )
bl Malate Glueokinaie
d-heto glutarate Glucose &- phosphatase
Aegarding transketolase: mMﬁhmmmmmﬂw:w
i uwﬂmmmfmwum i It increase the entry of glucose
;:i um-murhuhmwmmr b) :nmﬂmm“
€ nuwum-tumrmhmmww ?‘. ‘muw,
_MW% mhmﬂ#ﬂ“ﬂwmﬂwhmm
’im“:: aphoryl " & d-ketoglutarate is converted to suscinyl-5-<oA
- ntion of ARK: b) Succinyl-s-coA changes 1o succinate
= b) Phosphontation of ADP 3 Su -
©) Phosphanylation of ATP di changes to fumarata
@ Hydrolysis of ATP Fumarate changes to Malate ..
10 Which s the true statement about ghycolysis: 30 Stress rauma, sever exercise and secretion of epinephrine
3) Increase the secretion of insufin
1n ghycolysis, two steps generate ATP
In ghyoatysls three steps generate ATP 3 mh“h 2
in ghvcolyais four steps generate ATP n'""""m"“'ﬂ: insulin
4 el | d) All of the abave are true

d) _MNone of the abave is true
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In the prasence of ci”

~—10. Five major pancreatic proteases are activated by
a. Chymotrypsin

d b 7
11. Which one & the function of gastric juie HCL 12. Steatorrhea is caused by lack of
& It ¢onvents Pepsinogen to pepsin |— n Gastric juice
h
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. Azra Naheed Medical College, Lahore.
Test on Carbohydrates Metabolism (2 YEAR MBES)
e : enolysis Is the process in which glycogen in muscles is.
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